Statistics Practice Problems

SHOW ALL WORK

1. Given the following probabilities, Find Zo.      Note: Graphs must be shown.
a) P(-2.67≤ z ≤ Zo) = 0.9718         
b) P(Zo ≤ z ≤ 2.98) = 0.1117        
2. Find the following probabilities: if µ = 160, σ = 16.      Note: Graphs must be shown.

a) P(X > xo) = 0.8770                 
b) P(X < xo) = 0.12                       
c) P(X < xo) = 0.97                       
3. Find the percentage of Z-score in a normal distribution with µ = 75 and σ2 = 100 that are:

Note: Graphs must be shown.
a) between 60 and 80                   
b) between 40 and 65                   
c) greater than 83                       
4. Fill in the missing values in following ANOVA table 

	Source
	df
	SS
	MS
	F

	Factor
	5
	 
	205.5
	 

	Error
	 
	637
	 
	

	Total
	25
	 
	
	


	 
	Answer

	In the above ANOVA table, is the factor significant at 5% level of significant?  
	 


5. Test each of the following hypotheses:  
a) Ho: β = 0

Ha: β ≠ 0
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b) Ho: β = 0

Ha: β < 0
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c) Ho: β = 0

Ha: β > 0
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6. Calculate r2 for the following sets of data:
a) 
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b) 
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c) 
[image: image8.wmf](

)

75

ˆ

2

=

-

å

y

y

 and 
[image: image9.wmf](

)

å

-

2

ˆ

y

y

= 25
7. Consider the following hypothesis test.

                   Ho: µ ≥ 15
                   Ha: µ < 15

Giving the following data
4, 5, 6, 8, 8, 9, 11, 12, 12, 14

a. Calculate the mean.
b. Calculate the standard deviation.
c. At α = 0.05, what is the critical value for z or t? What is the rejection rule? Conduct test to make a conclusion.

8. Consider the following data drawn from a normal distribution population:

4, 8, 12, 11, 14, 6, 12, 8, 9, 5

            Construct a 90% confidence interval for the population mean. Use 2 tails test, α = 0.1

9. Consider the following hypothesis test. 
 Ho: µ = 10

                   Ha: µ ≠ 10

A sample of 36 provides a sample mean of 11 and sample standard deviation of 2.5. 

a) At α = 0.05, what is the rejection rule?  
b) Compute the value of the test statistic, p-value and find critical value. What is your conclusion?  
10. Compute the regression analysis for (a) and (b). 
What are the practical implications of your calculations? I discussed this during class live. 
	Y
	X

	1
	-5

	1
	8

	1
	9


a.)

b.)

	Y
	X

	60
	1

	13
	1

	5
	1
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